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Section A
Each question has a value of one mark,
Question Answer
L. 10.034 % 100
P g 2
© |4 +4 (leave answer in index form)
3. | Find the perimeter of a square with sides 8cm
4. | Complete the sentence:
Supplementary angles add to......
5. | Calculate 6.04 + 7.1 —2.05
6. | What is the value of the 8 in 0.01897
7 Stmplify the fraction 875
8. < Name this acute angle
p
Q
9. | Express 0.57954 correct io 1 decimal place.
10. | What are the prime factors of 157
I 2 . .
Find 3 of 2 ours in hours and minutes
12, { (.57
13, | Findpifp—5=3
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Question

Section B

Show all working in the spaces provided:

Answer
14. | Find 8.02 % 0.2 .
150
5-3l
3
16. | Express 2 348 mt in Litres?

& The angles marked with an x

17.
are knovm as ﬁnglcs
13. | True or false: 7x-3<-18-2
[9. |Evaluate 6 +5x 9 -2
20.

Below is the front view of a square pyramid. How
many edges has the whole square pyramid?

End of Section A
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1. | The net below will form what solid? | 2. |Ifm=-1andn=23 find:
a) n’+2m
b) Smn
Draw a diagram of this solid.
3. [ List all the factors of 4. | List the first § Muliiples of :
a) 12 a) 12
b 30
¢} What is the highest common b) 30
factor of 12 and 307
¢} What is the lowest common multiple of 12
and 307
5 1-~><3l 6. 3~ +4l
6
7. | Change to a decimal : 8. | A student gains 45 marks out a possible 8§0.

Write this as a fraction in its simplest form.
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9. | Findx: 10. Tem Sem
I0em
112° a} Find the perimeter of this iriangle.
0
b) Find the area of the triangle:
11, | With your protractor, measure the 12. | Rearrange the following decimals in
angle below and hence give the exact ascending order:
value of the reflex angle ABC,
’ 6.066, 6.606, 6.0666, 6.1606
B C
13. | Find the next 3 terms of the 14, | Caleulate the area of the shaded region:
following number patterns:
‘ 10 cm
a) 16,11,6,1 —
12 em 5em
: Not to scale
4
b) 4, 20, 100, 500 cm
15.

With your compass and ruler, draw a triangle 3x4x3 cm in the space below.
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Section C

Show all working in the spaces provided.

.

1 3 i
te2—+3>-x1—
Evaluate 5 2 S

1 give John % of my marbles. I have 14

lefi. How many did T have 1o start with?

e

3 2 . 4. 11
* | Express — asa decimal lnate . |1—
PIess o5 Evaluate o
5. | Simplify 3(#=y*) 6. | Simplify 5£%¢° +151%*
Write an equation for: “Subtract 8. | Evaluate3-[(2-5)x 4+ 5]
-3a from the product of 22 and 5
and the result is 26” and solve the
equation.
Salve the equation: 10. | Solve the equation:

S(Za-3-3a+d =1
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11.

Translate the shape below to the 12 [1f6-x = v fill in the box below and plot
point indicated. the peints on the number plane

Fg-z-to]za
| Y

T
o \
\
X
i3, | Findx 14. | Findaand b,
£
a b
K \A
-115 Sketch the view of this solid from:

a} the back

b) the left side

End of Section C
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Section D.

Show all working in fhe spaces provided.

1 1. | Octegons have been used form the pattern belowr. Draw in the next pattern.
Fill in the box below
{Octagens (0) [ 1 [ 2 [ 3 | 4 | 5 ]10[20
Number of
l sides (S} 8115
Using O for number of octagons and 8 for the number of sides, find the éeneral rule
that can be used to find the number of sides for O Octagons
> Find 0.9 +
a 9+ —
) Fin 5
b) Find 2
2
1
3
3. | A jug holds 2.5 litres. How many 250 ml glasses can be filled from this jug?
4. | Graham delivers brochures. He is paid 20 cents for every 100 brechures he delivers.
How much is he paid for delivery of 150 000 brochures?
L.
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The perimeter of a rectangle is 32 cm and its area is 28 em”. Find the dimensions of
ihe rectangle:

An equilateral triangle has lengths as shown.

Find the value of ¥

2x- Sy

x+6

Five drops of these eye drops make I ml. I put one drop in each eye every morning.
How long will it take to empty the 14 ml botile?

i ,

%

A farmer fences off a rectangular area on one end of his garage. It measures 10 m by

S m as shown in the diagram. The wire fencing is 2.5 m high. What is the area of wire
fencing?

. garage

\ =

i0m

2.5m

10.

Box A conlains only 50c coins
Box B contains only 20c coins.

The amount of money in A is $1.30 more than the amount in Box B. If there are 19
more coins in Box B than in Box A, how many coins are there altogether?

Find the missing fraction:

(1+-§x%):—2=1

11

Water is leaking from a tank af a constant rate.

At 2pm the tank is i— full.

At 3pm the tank is —lg—full.

At what time is the tank empty?

Morigh Cellege Year 7 [999 Examination

Tnd of Section D
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